, , - Unser Zeichen Anlage
Produktsicherheit und -qualitat Our Reference Appendix
Product Safety and Quality
01- SCJ - 50102446 001 1

Constructional Data Form (page 2 of 2)

2.1 Dimensions (mm) & Material:

Model:

SP1103-4030

SP1103D-4030

Overall dimension: 3950x3000 3950x3000
Number of wall base: 3 3
Number of arm: o 5
Height (H): 2950 2950
Width (L): 3820 3820
Class of wind resistance: 1 1
Class of water resistance: 1 1
Class of endurance: 1 1
Class of operating force: 1 1
Reduction ratio: 1:6.5 16.5

Rear arm: 50,0x30,0xT0,8 50,0x30,0xT0,8
A3, powder coating A3, powder coating
Front arm: 40,0x20,0xT0,8 40,0x20,0xT0,8
A3, powder coating A3, powder coating
Square tube: 35x35xT1,2 35x35xT1,2
A3, powder coating A3, powder coating
Roller: 260 60

Al 6063-T5, anodizing

Al 6063-T5, anodizing

Front profile:

37,1x29,5xT1,2 (Triangle)
Al 6063-T5, powder coating

@32xT1,0

A3, powder coating

Handle dimension: (LxQ) 1600x014 1600xQ214
A3, powder coating A3, powder coating
Crank radius: (R) 150 150
Expansion bolt: 6-M10x80 6-M10x80
A3, galvanized A3, galvanized
Wall bracket bolt: 3-M10x65 3-M10x65

A3, galvanized

SP1103-4030:
SP1103D-4030:

A3, galvanized

2.2 Weight (kg) 30,9

30,8

2.3 Others The adjustable angle is from 5° to 40° out level.

(Place) (Date)

TUV Rheinland Group

(Stamp and signature of License holder)




